7-2 Factoring by GCF

[ Factoring is the Qi‘)g)s'lr‘({? / eLVeTse. of the
Distributive Property.

*Factoring “_ U005, " the Distributive Property.
DISTRIBUTIVE PROPERTY: 2, (X +U]) =2 QX+ @

FACTORING: ’Ax.\.a 7 lx %—Lh

(JFACTOR 8x3 — 4x% — 16¥%

STEP 1: Find the GCF of all terms.
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STEP 2: “Reverse" dlstrlbute/dmde out the GCF from each term.
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STEP 3: Check by re-distributing the GCF.
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EXAMPLES:

1. 15b% + 10b 2. —14x — 12x* 3. 4x3 — 16x2
GCF = 5% - GCF= - A¥ GCF = >
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0 FACTORING OUT A BINOMIAL FACTOR

4. 5(x + 2) !+ 5. —2b(b? + 1) +|(b* + 1)
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[0 FACTORING BY GROUPING
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